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L) Quick:

Calculate the result and reduce it to lowest terms. e

1 _ 5 _ 5 5 15 _ 15 4 _ 8 _ 8
a) 513 =15 = 1§ b)3-16 = 16 = 16 )2 =1~ 15

3 _ 9 _ 9 1_2_2 1 _ 3 _ 1
d) 316 =16 = 16 €)2-3=3= H3-%s=1%=5

2 _ 14 _ 14 714 _ 7 ; 6 _ 12 _ 12
g) {5 =17 =17 h)2-3=1=9% )2 -1z =17 =17
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27) Quick:
7650
Calculate the result and reduce it to lowest terms.
v 14 7 9 _ 18 _ 18 8 _ 16 _ 16
a) 256 = 26 = 13 b) 255 =25 =195 )2z =97 =157
1 9 9 1 4 1 1 3 __ 3
)9 - 3=13=13 )d-5=15=3 )3-5=5=5%
10 _ 20 _ 20 3 18 _ 18 . 9 27T 27
8)2-55 =5 =% h) 6355 =353 =53 )3 95 =58 = 38
7 21 21
J)3-95 =25 = 35
37> Quick:
7650
Calculate the result and reduce it to lowest terms.
1 2 1 1 7 7 1 2 2
a)2-3=1=3 b)7T-§=5=5% )2 7=7=7%
3 6 _ 3 1 2 1 1 _ 2 2
)2-35=10=5 )2 1p=1 =5 2-5=5=5
1 3 _ 1 1 4 _ 4 . 3 _ 6 3
g)3-5=95=3 h)4.-5=5=53 2-9=10 =5
. 3 6 3
2-§=8=1
47) Quick:
7650
Calculate the result.
5 _ 15 _ 5 4 _ 16 __ 16 9 18 9
a)3- 9z =37 =39 b)d- 55 =55 =55 €) 2556 =5 = 13

www.dw-math.com Page ]. smp-7650-2/KUND



Solutions to smp-7650-2/KUND

9 _ 18 _ 18 .5 10 _5 10 _ 20 _ 20
d) 255 = 55 = 55 )2 -5 =17=3 f)2- 93 =193 =33

5 _ 10 _ 5 12 2 .4 _ 8 _ 8
g2 y=1=7% h)2-s=%=¢ D2 q1=11=11
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Good Luck!
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